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2 (9
We have,
/4

Azof sinx dx = [ — cosx]}/* = NG :1—\—5 (1)
Let A1 be the required area. Then,
/4

1
A= f cos x dx = [sinx]§/* = \_ﬁ ..(ii)
0

From (i) and (ii), we have

Requiredaread;=1—4
3 (b)

Required area = Area of rectangle OABC — Area of curve OABO
4

y=mn/2

Y.
x=1

/4
— f tany dy
0

N

s
=27 + [log cos y]g/4

=2 4 logcos— — logcos(0
=7 1 logcos — og cos(0)

= g+ log1 — log~/2 — log1
= G— logﬁ) sq unit

4 (b

3
Required area = 2 f \J9 —x% dx
1
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x
=2- —[x«/9—x +9sin~ 1—]

y
A(1,242)

* Q cGEo)
B(1,-2v2)
r X=1

y
=19sin"1(1) —/8 -9 sin_l(%)]
= [9{cos_1(%)} — \B][  cosT1O = g— sin~10

= [9sec™!(3) — \/g]sq unit
5 ()

1
Required area = j (xy — xl)dy
0
1
= f (4—y*—By)dy
[2 y A —yi+= (4)sm_1y

y

fy

0

:Sy

X
x’ fﬂ '
~— 24 2

X“+yc=4

M
3 1 3
= \7f+ sin~! ( ) —\4—2 sin™10

s it
= =sq units
354

Alternate

X Tr?

= Area = =5
30

360

:—s units
3 q

X (2)?

8 (d)
Given equation of circle and line are
X+yP=1 ..()
andx +y=1..(ii)
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From Egs. (i) and (ii),

¥+ (1-x)?%=1

SxP+1+x°—2x=1
¥

0, 1)B
( ﬁ\fl" y2= 10
A(1,0)
X
@) A
-L-\\

7
22X —2x=0=2x(x—1)=0
>x=0x=1=>y=1y=0
~ Point of intersection of circle and line are A(1, 0) and B(0, 1)

~. Required area = fol [V1—x*— (1 —x)]dx

1

xJ1—x% 1 ) x?
= T+§sm x—x+?0
1 1
=7271%3

s ) .
7~ 3)squni

b

f f(x)dx=(b—1)sin(3b + 4)

1
~ On differentiating both sides with respect to b, we get
f(b) =3(b—1)cos(3b+4) + sin(3b + 4)
~ f(x)=3(x—1)cos(3x + 4) + sin(3x + 4)

10 (c)

The required area A4 is given by
A= f (V1 —y2) dx

0 a

:A:bf{g 2—xz—g(a—x)}dx

br1l > ——> 1, . x|* b a
=>A=E[§x«/a —X +§a sin E] +—2a[(a—x) ]0
bl 5. 1 b 2
=>A=a{§a sin (1)}+2a(0—a)

ca="ap—Lap=L 2
=zb—zab=7r@=2)
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O Pl )

<Jf
(x, yz)Q A (a,0)

X' o b
§+ =1

11 (b)
The point of intersection of the parabola and the line are

A(2,1)and B(l — %)

2
f y dx
1

2
~ The requerd area = U y dx
1

—le +2)d le 2 d
= 14(x )x—_14x X

1[x? 173 ] 9 )
= Z[?_l_ 2x _1_Z 3 _1= 3 Sq units
12 (d)
Required area = f:/4 tan xdx = [logsecx ]/*
Y
p%

X = n/d

= logsec G) — logsecO

= 1og\ﬁ —logl= logﬁ sq unit
13 (b)
We have,

a 2a a
A1=2[«/4axdxand,A2=2]«/4ax—zf«/4axdx
0 0 0
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8a’® 16 8
=>A1 = i and, Az = ?\ﬁaz —§a2

3
=>A1_ 1 242 +1
Ay 242-1 7
14 (a)

Required area

1 2
A=f_1(—x2+2)dx+f1 (2x — 1)dx

1

x3 2
=[——+2x +[xz—x]1
3 -1
_10+2_16 "
=3 =3 squni
16 (a)

Required area = area of A AOB — fol (1 —~x)%dx

17
Given area bounded by the curve, y =+/3x + 4,x-axis and the linex =—1and x = 4 is 4
and area bounded by the curve y =+/3x + 4
ie,y =+ (3x + 4)'/? x-axis and the linex = —1and x = 4 is B
~B=2A
[Since, it is the area of both sides about x-axis]
Now, A:B=A:2A=1:2
18 (a)
Required area = f(? Nxdx — f: (x;3)dx
9

(x3/2)9 1(x2
I G R ——3x)
3/2), 2\2 X

4 B
4y=JY
T
O| /A3, 0) (9, 0) X
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-G)-33-+)-6-9)

=18 —9 =9 sq unit
20 (a)
B

Given, f(x)dx = Bsin[3+gcos[3+ﬁ[3
/4

On differentiating w.r.t. B on both sides, we get

fB) = SinB+BcosB—gsinB+ﬁ

T
Put B=§

T T m m oW m T
Then,f(z) sin + > cos 451n2+\f 1 4+\f
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ANSWER-KEY
Q. 1 2 3 4 5 6 7 8 9 10
A. B C B B C B C D C C
Q 11 12 13 14 15 16 17 18 19 20
A B D B A B A C A B A
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